
 Øe.54 30  Øi.54 

50x40

 Ø50x40

 Øi.43 40 

 160,00 

S.S. Clamp Ø45 
P/N 3000045530

S.S. Pipe n° 1480
P/N 3015267201

Carbon Muffler
P/N 3015200481U

Short Spring
P/N 303949001

Allen Screw
M8x20
P/N 200722

2x Allen Screws
M8x30
P/N 202491

Allen Screw
M8x45
P/N 201450

3x Washers
Øe.24 Øi.8
P/N 200321

3x Flange Nut M8
P/N 200298

Alu Spacer
Øe.22 Øi.8.5 h.11
P/N 205090

Alu Spacer
Øe.25 Øi.8.5 h.9
P/N 206366

S.S. Bracket
P/N 303268501

S.S. Bracket 
P/N 30815267501

Carbon Heat Shield
P/N 086974002

4x Gaskets
Øe.14 Øi.4,9 h.1,5
P/N 200371

2x Washers
Øe.15 Øi.5
P/N 406580

2x Screws
M5x12
P/N 201031

2x Mounting Plates M5
P/N 204555

bike's frame

bike's frame

Carbon Bracket
P/N 3015200561

10
4 

ART. 15267CU

MOTO MORINI SEIEMMEZZO SCR/STR/A2 (also fits 35kW version) 

SLIP-ON   LV-10   CARBON


	DT-15267CU
	Vista del disegno1
	Vista del disegno2




